C:# Identifying Y Intercept (Tables)

Name:
Identify the Y intercept for each table. Answers
Dlx]y 2 I x| v 3 | x|y
1.
-7 7 -7 | 1029 -3 -9
21 2 -4 | 336 2 6 )
11 -2 84 5115 '
51-5 1 21 8 | 24
7 | 7 5 | 525 10 | 30 3
4,
5.
Dl x| v S | x|y 6 | x | v
6.
-10 | -12 1] -2 -10 | -110
-7 -9 5 2 -8 -88 ;
6 | -8 7|4 2 | 22 '
3 1 8 5 1 11
4 | 2 0] 7 8 | s8 8
9,
10.
N x|y 8 | x| v 9 | x| v
11.
51 -25 -10 | -32 -8 | -40
-1 -9 -9 | -28 -6 | -30 1
4 11 -4 -8 -2 | -10 '
6 | 19 7 36 4 | 20
8 27 9 44 7 35
10) X Y 11) x|y 12) X Y
-1 -9 81 -1 -10 | 30
1 5 6| 1 -9 27
5133 51 2 -2 6
8 | 54 3| 4 -1 3
10 | 68 9 | 16 10 | -30
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 111121 8] 0
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Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
D{x]y 2 1x| v x|y 0
1.
7|7 -7 | 1029 3| -9
21 2 -4 | 336 2 6 0
2
111 -2 84 5115
51|-5 1 21 8 | 24 0
77 5 | 525 10 | 30 3
Y=-X Y =7xXx(Xx%3) Y=Xx3
4 -2
5 -3
Y1 x | v | x|y 1 x| v . 0
-10 | -12 1] -2 -10 | -110
-7 -9 5 2 -8 -88 5
; ,
-6 -8 7 4 -2 -22
3 1 8 5 1 11 8
8
4 2 10| 7 8 88
Y=X-2 Y =X+(3x-1) Y =4x X +(X x7) 0
9
10 -2
Nlx|y 8 | x| v 9 x| v
11 7
51| -25 -10 | -32 -8 | -40
-1 -9 -9 | -28 -6 | -30 0
12
4 | 11 -4 -8 -2 | -10
6 | 19 7 36 4 1 20
8 | 27 9 44 71 35
Y =4xX-5 Y =4xX+8 Y =5xX
100 [ x | v x|y 2 x [ v
-1 -9 -8 -1 -10 | 30
1 5 6| 1 -9 27
5| 33 5| 2 -2 6
8 | 54 3| 4 -1 3
10 | 68 91| 16 10 | -30
Y =8xX-(X+2) Y =X-(7x-1) Y =6xX-(Xx9)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 111121 8] 0




JL_

Identifying Y Intercept (Tables) Name:

Identify the Y intercept for each table. Answers
-3 0 -2
0 0 -5 1
0
2.
Dlx]y x| v A x|v
717 -7 | 1029 31 -9 3
21 2 -4 | 336 2 | 6
1)1 2| &4 5 | 15 4
5|-5 1| 21 8 | 24
7| -7 5| 525 10 | 30 5
Y=-X Y =7xXx(X%3) Y=Xx%3
6.
7.
8.
41 x | v 5 [ x|y 6 [ x | v
-10 | -12 1|-2 -10 | -110 9
7| -9 51| 2 -8 | -88
-6 | -8 7| 4 2 | 22
3 1 8 |5 1 11
4 | 2 10| 7 8 | 88
Y=X-2 Y =X+(3x-1) Y =4xX +(X x7)
Nlx|y 8 x | v 9 | x| v
-5 | -25 -10 | -32 -8 | -40
1] -9 -9 | -28 -6 | -30
4 | 11 -4 | -8 -2 | -10
6 | 19 7 | 36 4 | 20
8 | 27 9 | 44 7| 35
Y=4xX-5 Y=4xX+8 Y =5xX
[ Math M odified 1 1-9 [89|78[67[56|44][33[22[11] 0 |

www.CommonCoreSheets.com



JL_

Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
D x|y 2 [ x| v (x| v
1.
101 0 -9 | -42 -9 | -16
-8 |0 -7 | -32 -6 | -10 )
410 5| -22 3| -4 '
-2 0 3| 18 9 20
5 |0 6 | 33 10 | 22 3
4,
5.
D x| v 1 x| v 6 | x| v
6.
-8 | -11 -10 | -19 -8 | -224
-6 | -9 -8 | -17 -4 | -112 ;
21| -5 -6 | -15 1 28 '
6 3 -3 | -12 3 84
7| 4 2 | 7 4 | 112 8
0.
10.
N lx| v 8 [ x | v 9 x| v
11.
-3 | -27 -10 | -2 -7 7
3| 27 -2 6 -4 4 "
4 | 36 3 11 2 -2 '
8 | 72 4 12 5 -5
9 | 81 8 16 10 | -10
10) X Y 11) X Y 12) X Y
-7 | -63 -10 | -110 -8 | -37
-5 | -45 -9 -99 -7 | -33
-2 | -18 -6 -66 5| -25
6 | 54 4 | a4 1| -9
9 | 81 -1 -11 2 3
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 111121 8] 0
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Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
Dl x|y 2 1Ix]| vy ) x| vy 0
1.
101 O -9 | -42 -9 | -16
-8 0 -7 | -32 -6 | -10 3
2,
4|0 5| -22 3| -4
-2 0 3 18 9 20 2
3.
5 0 6 | 33 10 | 22
Y =7xX-(Xx7) Y =6xX-(X-3) Y =2xX+2 3
4, -
5. -9
91 x| v 1 x| vy 6 | x| v . 0
-8 | -11 -10 | -19 -8 | -224 '
-6 | -9 -8 | -17 -4 | -112 0
7.
2| -5 -6 | -15 1 28
6 3 -3 | -12 3 84 8
8.
7 4 2 -7 4 112
Y=X-3 Y =X+(9x-1) Y =4xXx7
9. 0
10, 0
Nlx]| vy 8 | x |v 9 | x
11. 0
3| -27 -10 | -2 7] 7
3| 27 -2 6 -4 4 5
12. -
4 | 36 3 11 2 -2
8 | 72 4 12 5 -5
9 | 81 8 16 10 | -10
Y =9xX Y=X+8 Y=-X
10) X Y 11) X Y 12) X Y
-7 | -63 -10 | -110 -8 | -37
-5 -45 -9 -99 -7 | -33
-2 | -18 -6 -66 5] -25
6 | 54 -4 -44 -1 -9
9| 81 -1 -11 2 3
Y =8xX-(X x-1) Y =2xX+(X x9) Y =3xX+(X-5)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 111121 8] 0




C:# Identifying Y Intercept (Tables) Name:

Identify the Y intercept for each table. Answers
0 0 -9 -3
3 0 0 2 1.
8
2.
Dl x|y I x| v A x| v
10| O -9 | -42 -9 | -16 3,
-8 10 -7 | -32 -6 | -10
-4 10 5| -22 3| 4 4
210 3| 18 9 | 20
5|0 6 | 33 10 | 22 5,
Y =7xX-(Xx7) Y =6xX-(X-3) Y =2xX+2
6.
7.
8.
H1x| vy | x | v 6) | x| Y
-8 | -11 -10 | -19 -8 | -224 9.
6| -9 -8 | -17 -4 | -112
2| -5 -6 | -15 1 28
6 3 -3 | -12 3 84
71 4 2 -7 4 | 112
Y=X-3 Y =X+(9x-1) Y =4xX %7
Nlx|y 8 [ x | v Nl x|y
-3 | -27 -10 | -2 7|7
3| 27 2| 6 4| 4
4 | 36 3 |11 2 | -2
8 | 72 4 | 12 51| -5
9 | 81 8 | 16 10 | -10
Y=9xX Y=X+8 Y =-X

M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
[ Math www.CommonCoreSheets.com 2




JL_

Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
Dl x|y 2 x| v x| v
1.
-10 | -26 -6 | -180 -8 | -40
-5 | -16 2 60 -7 | -35 )
-3 | -12 3 90 51 -25 '
-1 -8 8 | 240 7 35
4 | 2 9 | 270 10 | 50 3
4,
5.
Y1 x|y | x| v 6 | x|y
6.
4] -9 2| -4 5|5
2 | -3 51 10 3| -3 .
5 0 6 | 12 6 | -6 '
8 3 7 114 8 | -8
0] 5 8 | 16 9 |9 8
9,
10.
N 1lx|y 8 [ x| v 9 x| v
11.
8|10 -9 | -15 -8 | -80
410 -6 | -12 -6 | -62 1
1] 0 5 | -11 4 | 44 '
2 0 2 -4 -1 | -17
81|10 4 -2 5| 37
10) X y 11) X Y 12) x |y
-5 | -19 -8 | -48 9| -7
a1 4 | -24 5| -3
2 16 2 12 -4\ -2
51| 31 4 | 24 2| 4
6 | 36 51 30 31|15
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 111121 8] 0
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Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
Dl x|y 2 x| v x| v 5
1 -
-10 | -26 -6 | -180 -8 | -40
5 | -16 2 | 60 7| -35 , 0
-3 | -12 3 90 51 -25 '
1| -8 8 | 240 7| 35 0
4 | 2 9 | 270 10 | 50 3
Y=2xX-6 Y =6xXx5 Y =3xX+(Xx2) 5
4 ;
5 0]
Y1 x|y | x| v 6 | x|y . 0
-4 | -9 2| -4 5|5
2 | -3 5 | 10 31|-3 0
7
5 0 6 | 12 6 | -6
8 |3 7 | 14 8 | -8 6
g B}
10| 5 8 | 16 91 -9
Y=X-5 Y =2xX Y =-X
9 -8
10, 6
N x|y 8 I x| vy 9 1x]| vy
11, 0
8|10 -9 | -15 -8 | -80
410 -6 | -12 -6 | -62 2
12,
100 5| -11 -4 | -44
210 2 | -4 -1 | -17
8|0 4| -2 5 | 37
Y =4xX-(X x4) Y =X+(6x-1) Y =8xX+(X-8)
19 [ x | v Wix| vy 12 [ x [v
-5 | -19 -8 | -48 9 | -7
11 4| -24 5| -3
2 | 16 2 | 12 4| -2
5| 31 4 | 24 2 | 4
6 | 36 5| 30 3|5
Y=5xX+6 Y=Xx6 Y =X-(2x-1)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 111121 8] 0




C:# Identifying Y Intercept (Tables)

Name:
Identify the Y intercept for each table. Answers
-8 0 -6 0
-6 0 0 0 1
-5
2.
Dl x| v I x| v A (x| v
-10 | -26 -6 | -180 -8 | -40 3.
-5 | -16 2 60 -7 | -35
-3 | -12 3 90 -5 1| -25 4
-1 | -8 8 | 240 71 35
4 2 9 | 270 10 | 50 5,
Y =2xX-6 Y =6xXx5 Y =3xX+(Xx%2)
6.
7.
8.
1 x|y ) | x| vy 6) | x|vY
-4 | -9 2| -4 515 9.
2 | -3 51 10 3| -3
5|0 6 | 12 6 | -6
8 | 3 7|14 8 | -8
10| 5 8 | 16 91| -9
Y=X-5 Y =2xX Y=-X
Nlx|y 8 | x| v x|y
8|10 -9 | -15 -8 | -80
410 -6 | -12 -6 | -62
110 5| -11 4 | -44
210 2| -4 -1 -17
81|10 4 | -2 5| 37
Y =4xX-(Xx4) Y =X+(6%-1) Y =8xX+(X-8)
M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
[ Math ] www.CommonCoreSheets.com 3
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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
Dlix]|y 2 | x| v 3 x| v
1.
-8 | -43 7| -14 -10 | -4
-6 | -31 -6 | -13 3|3 ,
5| 35 -5 | -12 2 | 8 '
9 | 59 -4 | -11 3 ]9
10 | 65 7] o 7 | 13 3
4.
5.
Dl x| v 5 | x| v 6 | x| v
6.
-5 | -15 1] -3 -3 | -15
2| -6 3| 7 1] 1 ;
1| -3 4 | 12 4 | 13 '
4 | 12 6 | 22 5 | 17
10 | 30 10 | 42 6 | 21 8
9.
10.
N x|y 8 [ x| v 9 | x|y
11.
91| -6 51 -25 Tl 7
8| -5 -4 | -20 4| 4 .
-4 | -1 -2 | -10 3|-3 '
1| 2 8 | 40 6 | -6
3|6 9 | 45 8 | -8
10 [x | v m [x[ v 12) [ x [ v
-6 | -78 -8 | -13 -9 9
-5 | -65 -6 | -11 6| 6
-4 | -52 3| -8 2 | -2
-3 | -39 8 3 8 -8
10 | 130 9| 4 10 | -10
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 111121 8] 0




C:# Identifying Y Intercept (Tables) Name: Answer Key

Identify the Y intercept for each table. Answers
DIx]|y 2 [ x| v A x |v 5
1.
8 | -43 7 | -14 10 | -4
6 | -31 6| -13 3| 3 -
, i
5 | 35 5|12 2 | 8
9 | 59 41 3 | 9 5
10| 65 71 0 7 |13 3
Y =6xX+5 Y=X-7 Y=X+6
4 0
5 -8
Yl x| v 5 [ x| v 6 [ x| v 3
3 i
5 | -15 1] -3 3] -15
2| 6 3| 7 1] 1 3
7.
1! -3 4 | 12 4 | 13
4 | 12 6 | 22 5 | 17 0
10 | 30 10 | 42 6 | 21 8
Y Z4xX+(Xx-1) Y =6xX-(X+8) Y =4xX-3 0
9
10, 0
N lx|vy 8 [x ] v 9 [ x
11, -3
9| -6 5| 25 717
8|5 4| 20 4 4 0
12.
41 2|10 3 -3
1] 2 8 | 40 6 | -6
3| 6 9 | 45 8 | -8
Y =X-(3%-1) Y =4xX-(Xx-1) Y =3xX-(Xx4)
O x| v Wix|y 12 [ x| x
6 | -78 8| -13 9| 9
5 | -65 6| -11 6| 6
4 | 52 3] 8 2 | 2
3| -39 8| 3 8 | -8
10 | 130 9| 4 10 | -10
Y =7xX+(X x6) Y =X+(5%-1) Y=-X

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 4 11-12| 8 | O




C:# Identifying Y Intercept (Tables)

Name:
Identify the Y intercept for each table. Answers
-8 0 -7
-3 3 0 1
6
2.
DIx|y 2 I x| vy A x | v
-8 | -43 -7 | -14 -10 | -4 3
-6 | -31 -6 | -13 -3 3
51| 35 5| -12 2 8 4
9 | 59 -4 | -11 3 9
10 | 65 7 0 7 13 5,
Y=6xX+5 Y=X-7 Y=X+6
6.
7.
8.
4d 1 x| v S | x|vY 6) | x| v
-5 | -15 1| -3 -3 | -15 Q.
2| -6 3 7 1 1
-1 -3 4 12 4 13
4 12 6 22 5 17
10 | 30 10 | 42 6 | 21
Y =4xX+(Xx-1) Y=6xX-(X+8) Y=4xX-3
Nlx|y 8 [ x| v 9 1x ]|y
9| -6 51| -25 77
-8 | -5 -4 | -20 4| 4
-4 | -1 -2 | -10 31|-3
1] 2 8 | 40 6 | -6
3|6 9 | 45 8| -8
Y=X-(3%-1) Y =4xX-(Xx-1) Y =3xX-(Xx4)
M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
[ M ath ] www.CommonCoreSheets.com 4




JL_

Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
Dix| vy x|y ) x| v
1.
-9 | -66 -8 | -15 -10 | -350
-8 | -58 -3 | -10 -8 | -280 )
5| -34 3| -4 1| -35 '
4 | -26 4 | -3 2 70
6 | 54 9| 2 10 | 350 3
4,
5.
91 x| v 1 x| v 6 I x| v
6.
-8 | -32 -10 | -33 -9 | -48
51 -20 -7 | -21 -8 | 43 ;
3| -12 -6 | -17 -3 | -18 '
2 8 2 15 2 7
5 | 20 10 | 47 6 | 27 8
0.
10.
Nlx| vy 8 | x | v 9 x|y
11.
-4 | -16 -10 | -70 811
1] 4 3 | -21 4] 5
12.
2 8 1 7 207
6 24 5 35 -1 8
10 | 40 9 63 2 | 11
10) x |y 11) X Y 12) X Y
2| -7 -10 | -50 -10 | 10
1| -6 9 | -45 4 | 4
2 | -3 -8 | -40 -2 2
6 1 -2 | -10 2 -2
10| 5 9 45 3 -3
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




JL_

Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
Dix| vy x|y ) x| v 5
1.
-9 | -66 -8 | -15 -10 | -350
-8 | -58 -3 | -10 -8 | -280 ) 7
51 -34 3 -4 -1 -35
-4 | -26 4 -3 2 70 0
6 | 54 9| 2 10 | 350 3
Y =9xX-(X-6) Y =X+(7%-1) Y=7xXx5 0
4
5 4
91 x| v 1 x| v 6 I x| v 3
5 -
-8 | -32 -10 | -33 -9 | -48
51 -20 -7 | -21 -8 | 43 0
7
3| -12 -6 | -17 -3 | -18
2 8 2 15 2 7 0
8
51| 20 10 | 47 6 | 27
Y=Xx4 Y =3xX+(X+7) Y =4xX+(X-3) 9
9
10. -5
Nlx|y 8 | x| v 9 x|y
11. 0
-4 | -16 -10 | -70 811
1 4 -3 | -21 4|1 5 0
12.
2 8 1 7 27
6 24 5 35 -1 8
10 | 40 9 63 2111
Y =5xX+(X x-1) Y =7xX Y =X-(9x-1)
10) x |y 11) X Y 12) X Y
2| -7 -10 | -50 -10 | 10
1] -6 -9 | -45 4 | 4
2 | -3 -8 | -40 2| 2
6 | 1 2 | -10 2 | -2
10| 5 9 | 45 3 | -3
Y=X-5 Y =3xX+(Xx2) Y=-X
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




C:# Identifying Y Intercept (Tables) Name:

Identify the Y intercept for each table. Answers
7 9 6 0
-7 -3 0 0 1
0
2.
DIx]| vy 2 x| v 3 | x Y
9| -66 8| -15 -10 | -350 3
-8 | -58 -3 | -10 -8 | -280
5| -34 3| -4 -1 | -35 4
-4 | -26 4 | -3 2 70
6 | 54 9| 2 10 | 350 g
Y =9xX-(X-6) Y =X+(7x-1) Y =7xXx5
6.
7.
8.
4 x| vy 5 | x | v 6) | x| v
-8 | -32 -10 | -33 9 | -48 9
5| -20 7 | -2 -8 | -43
3] -12 6 | -17 -3 | -18
2| 8 2 | 15 2 | 7
5| 20 10 | 47 6 | 27
Y=Xx4 Y =3xX+(X+7) Y =4xX +(X-3)
Nlx|vy 8| x| v 9 I x|y
-4 | -16 -10 | -70 8] 1
1] 4 3 |-z 4] 5
2 | 8 1 7 21 7
6 | 24 5 | 35 1] 8
10 | 40 9 | 63 2 | 11
Y =5xX+(X %-1) Y=7xX Y =X-(9x-1)

mmonCoreSheets.com

ifi 1-9 |89]|78]67[56]44[33[22[11] 0 |
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C:# Identifying Y Intercept (Tables)

Name:
Identify the Y intercept for each table. Answers
D 1x | v 2 I x| v 3 | x| v
1.
-4 | -11 9| -51 -6 2
-3 | -10 7| -m 4] 4 ,
2 -5 2 4 1 9 '
3 -4 5 19 7 | 15
4| 3 7 | 29 10 | 18 3
4,
5.
Dl x| v S | x|y 6 | x| v
6.
-9 | -81 11 -9 | -83
-7 | -63 2 |10 -4 | -33 ;
5 45 4 | 16 2 27 '
7 63 51 19 5 57
10 | 90 9 | 31 6 | 67 8
9,
10.
N x|y 8 I x| v 9 x| v
11.
6| 6 -7 | -280 -3 | -32
11 -1 1 40 -2 | -22 1
4 | -4 2 | 80 1| -12 '
6 | -6 5 | 200 6 58
7 | -7 7 280 10 | 98
10) X Y 11) X v 12) x | v
-8 | 144 9| -12 919
4 | 24 6| -9 6| 6
1 36 2| -5 31]-3
4 | 216 1| 4 6 | -6
10 | 900 3 0 8 | -8
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 111121 8] 0




C:# Identifying Y Intercept (Tables) Name: Answer Key

Identify the Y intercept for each table. Answers
D{x| vy 2 Ix]| v I x|y -
1. =
4| -11 9 | -51 6 | 2
3| -10 7 | -m 4| 4 6
2. -
2 | 5 2 | 2 1] 9
3| -4 5 | 19 7 | 15
3 8
3 7 | 29 10 | 18
Y=X-7 Y =6xX-(X+6) Y=X-(8%-1) 0
4
5 4
H 1 x| v 5 | x|y 6) | x| v -
6
9 | -81 1] 1 9 | -83
7 | -63 2 | 10 4 | -33 , 0
5 | 45 4 | 16 2 | 27 '
7 | 63 5 | 19 5 | 57 0
10 | 90 9 |31 6 | 67 8
Y=Xx9 Y=3xX+4 Y Z9xX+(X+7) 5
o _
10 0
N lx]|y 9 I x| v 9 | x| v
11 '3
6| 6 -7 | -280 3| -32
1| -1 1| 40 2| 2 0
12.
4 | -4 2 | 80 1] 12
6 | -6 5 | 200 6 | 58
7 | 7 7 | 280 10 | 98
Y =3xX-(Xx4) Y=5xXx8 Y =9xX+(X-2)
100 [ x | v x| v 12) [ x [ v
8 | 144 9 | -12 9| 9
4| 24 6| -9 6| 6
1| 36 2| -5 3| -3
4 | 216 1| -4 6 | -6
10 | 900 3] 0 8 | -8
Y =6xX x(X +5) Y =X+(3x-1) Y=X

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 6 11-12| 8 | O




C:# Identifying Y Intercept (Tables)

Name:
Identify the Y intercept for each table. Answers
0 4 0
8 0 -7 1
-
2.
D x| v ) Ix| vy | x|y
-4 | -11 9| -51 6| 2 3
-3 | -10 -7 | 41 -4 | 4
2 | -5 2 | 4 119 4.
3| -4 51| 19 7 | 15
4 | -3 71 29 10 | 18 5,
Y=X-7 Y =6xX-(X+6) Y=X-(8%-1)
6.
7.
8.
4“1 x| v 9 | x| v 6) | x| v
-9 | -81 1)1 -9 | -83 9.
-7 | -63 2 |10 -4 | -33
5 | 45 4 | 16 2 | 27
7 | 63 51|19 5| 57
10 | 90 9 | 31 6 | 67
Y=Xx9 Y=3xX+4 Y =9xX +(X+7)
)l x 8 | x| v 9| x| v
6| 6 -7 | -280 -3 | -32
11]-1 1 40 2 | -22
4 | -4 2 80 -1 | -12
6 | -6 5 | 200 6 | 58
7| -7 7 | 280 10 | 98
Y =3xX-(Xx4) Y =5xXx8 Y=9xX+(X-2)
M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
[ Math ] www.CommonCoreSheets.com 6
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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
Dlx |y 2 I x|y A3 x| v
1
-10 | -68 -8 8 -10 | -70
-8 | -54 7|7 2 | -14 ,
7 | -47 5|5 2 | 14 '
2 | -12 3|3 3 |21
2 | 16 11 10 | 70 3
4.
5.
DI x| v I x| v 6 | x| v
6.
-5 | -180 9| -27 -3 | -48
5 | 180 5| -15 -1 -16 ;
8 288 -3 -9 2 32 '
9 | 324 1] 3 5| 80
10 | 360 4| 12 9 | 144 8
0.
10.
N x|y 8 | x|y 91 x | v
11.
-6 | -30 11|16 -10 | 10
-2 | -10 3134 -9 9 1
1| -5 5 | 52 -4 | 4 '
7| 35 8 | 79 1 | -1
8 | 40 9 | 88 6 | -6
100 [x [y m x| v 12 [x [y
9| -6 -2 | -13 2 | -7
7| -4 1| -5 3|-6
1] 2 5 | 43 4 | -5
3 6 7 | 59 51 -4
9 | 12 8 | 67 10 | 1
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 111121 8] 0
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Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
DI x|y 2 [ x|y A1 x| v 5
1.
-10 | -68 8] 8 -10 | -70
-8 | -54 7|7 2 | -14 0
2
-7 | -47 515 2 14
-2 | -12 -3 3 3 21 0
3
2 16 1)1 10 | 70
Y =6xX+(X+2) Y=-X Y=Xx7
4 0
5 0]
Y1 x| v S [ x| v 6 [ x| v . 0
-5 | -180 -9 | -27 -3 | -48
5 180 -5 1 -15 -1 -16 ; 0
8 | 288 3| -9 2 | 32
9 324 1 3 5 80 7
10 | 360 4| 12 9 | 144 8
Y =4xXx%x9 Y =2xX-(Xx-1) Y =7xX+(X%9) 0
9
10, 3
Nlx|y 8 [ x|v 91 x | v
11. 3
-6 | -30 1] 16 -10 | 10
2 | -10 3|34 9|09 -9
12.
-1 -5 51| 52 -4 4
7 | 35 8 | 79 1 -1
8 | 40 9 | 88 6 -6
Y =6xX+(Xx-1) Y =9xX+7 Y =4xX-(X%5)
10) X | v 11) X Y 12) X |y
9| -6 2| -13 2 | -7
7| -4 1| -5 3 |-6
1] 2 5 | 43 4 | -5
31| 6 7 | 59 51| -4
9 | 12 8 | 67 10| 1
Y=X+3 Y =9xX-(X-3) Y =X+(9%-1)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 111121 8] 0




C:# Identifying Y Intercept (Tables) Name:

Identify the Y intercept for each table. Answers
0 7 0 0
0 0 2 0 1
0
2.
D]l x|y 2 I x|y A x| v
-10 | -68 -8 | 8 -10 | -70 3,
-8 | -54 T 7 -2 | -14
-7 | -47 515 2 14 4.
-2 | -12 -3 3 3 21
2 16 1)1 10 | 70 5,
Y =6xX+(X+2) Y=-X Y=Xx7
6.
7.
8.
441 x| v 5 [ x| v 6) [ x | v
-5 | -180 -9 | -27 -3 | -48 Q.
5 180 -5 1| -15 -1 | -16
8 | 288 3| -9 2 | 32
9 | 324 1 3 51| 80
10 | 360 4 | 12 9 | 144
Y =4xXx9 Y =2xX-(Xx-1) Y =7xX+(X%9)
Nlx| vy 8 [ x| vy Nl x| v
-6 | -30 1| 16 -10 | 10
-2 | -10 3134 -9 9
-1 -5 5| 52 -4 4
7 | 35 8 | 79 1 -1
8 | 40 9 | 88 6 -6
Y =6xX+(Xx%-1) Y =9xX+7 Y =4xX-(Xx5)
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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
Dlix]|y 2 x| v 3 | x|y
1.
-8 | -79 -9 | -43 310
2| -25 3| 17 2|1 ,
2 | 11 5 | 27 2 |5 '
3|20 6 | 32 8 | 11
8 | 65 10 | 52 10 | 13 3
4.
5.
Dl x| v | x| v 6 | x| v
6.
-10 | -280 -10 | -1 -9 | -45
-8 | -224 9]0 -71-35 ;
1 28 8|1 -3 ] -15 '
2 56 6 | 15 1| -5
8 | 224 7 | 16 1] 5 8
9.
10.
N lx| v 8 [ x| v 9 [ x| v
11.
-8 | -28 -6 | -24 -7 | -12
-6 | -20 -3 | -12 -1| -6 1
3| -8 1| -4 6 | 1 '
3| 16 5| 20 71 2
8 | 36 8 | 32 9| 4
10) [x m[x [y 12) [x [y
-8 8 -10 | -70 -10 | 10
2| 2 -6 | -42 5|5
4 | -4 -4 | -28 4 | 4
5| -5 2 | 14 2 | -2
6 | -6 4 | 28 6 | -6
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 111121 8] 0
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Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
Dix| vy 2 1x|vy x|y -
1. -
-8 | -79 -9 | -43 3]0
-2 | -25 3 17 -2 1 2
2,
2 11 5 27 2 5
3| 20 6 32 8 | 11 3
8 | 65 10 | 52 10 | 13 3
Y =8xX+(X-7) Y =5xX+2 Y=X+3 0
4
5 9
1 x| v 1 x |v I x| v . 0
-10 | -280 -10 | -1 -9 | -45
-8 | -224 -9 0 -7 | -35 4
7
1 28 -8 1 -3 | -15
2 56 6 15 -1 -5 0
8
8 224 7 16 1 5
Y=7xXx4 Y =X-(9%-1) Y =5xX
9 -5
10, 0
Nlx]| vy 8 | x| vy 9 x| v
11. 0
-8 | -28 -6 | -24 -7 | -12
-6 | -20 -3 | -12 -1| -6 0
12.
-3 | -8 1| -4 6 1
3 16 51 20 7 2
8 | 36 8 | 32 9 4
Y =3xX+(X+4) Y =5xX+(X x-1) Y=X-5
10) [ 1) [x [ v 12) % [ v
-8 8 -10 | -70 -10 | 10
2| 2 -6 | -42 -5 5
4 | -4 -4 | -28 4 | 4
51-5 2 14 2 -2
6 | -6 4 28 6 -6
Y=-X Y =6xX-(Xx-1) Y =6xX-(Xx7)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 111121 8] 0
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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
3 9 0
-5 0 7/
4
D{x]| vy x|y | x|v
-8 | -79 -9 | 43 3]0
2| -25 3| 17 211
2 | 11 5 | 27 2 | 5
3| 20 6 32 8 | 11
8 | 65 10 | 52 10 | 13
Y =8xX+(X-7) Y =5xX+2 Y=X+3
41 x| v S x | v 6 | x| v
-10 | -280 -10 | -1 -9 | -45
-8 | -224 9|0 -7 |-35
1 28 8|1 -3 | -15
2 56 6 | 15 1| -5
8 | 224 7 | 16 1| 5
Y =7xXx4 Y=X-(9%-1) Y =5xX
NlIx| vy 8 x| v 9 1x]| vy
-8 | -28 6 | -24 -7 | -12
-6 | -20 3| -12 1| -6
-3 | -8 1| 4 6 1
3| 16 5| 20 7| 2
8 | 36 8 | 32 9| 4
Y =3xX+(X+4) Y =5xX+(Xx-1) Y=X-5
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mmonCoreSheets.com

1-9 |89]|78]67[56]44[33[22[11] 0 |




JL_

Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
Dix]y 21 x| vy x| vy
1.
7| -21 -10 | -68 9| -12
31 -9 7 | -47 3| 0 ,
2| -6 3 |23 2| 2 '
1| -3 7 | 51 2 | 10
10 | 30 9 | 65 5 | 16 3
4.
5,
D[ x| v 5 [ x| v 6 | x| v
6.
5| -25 -6 | -15 6 | -12
-4 | -21 11| -8 2| -8 ;
-2 | -13 3| -6 1| -7 '
3| 7 6 | -3 3| -3
6 | 19 8 | 1 71 1 8
9.
10.
Nlx]| vy 8 Ix| v D1 x|y
11,
-6 | -54 -8 | -128 7|7
1 9 -5 -80 -6 6 1
2 | 18 -3 | -48 5| 5 '
4| 36 -1 | -16 3| -3
5 | 45 8 | 128 10 | -10
10 [x [y m <[y 12) [ [ v
3| -4 9| -5 2 | -22
210 7| -3 1] 11
4 | 24 51 -1 2 | 22
6 | 32 1] 3 6 | 66
7 |36 10 | 14 7| 77
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 111121 8] 0
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Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
Dix]| vy 1 x| v ) |x| v 0
1.
7 | -21 _10 | -68 9 | -12
3] -9 7 | -a7 3| 0 , 5
2| -6 3 | 23 2| 2 '
1] -3 7 | 51 2 | 10 5
10 | 30 9 | 65 5 | 16 3
Y =9xX-(Xx6) Y=7xX+2 Y=3xX-(X-6) 5
. _
5 -9
Y 1 x| v 9 I x| v 6 | x| v 6
3 _
5 | -25 6 | -15 6 | -12
4| 21 1| -8 2| -8 , 0
2| -13 3| -6 1| -7
3| 7 6 | -3 3| 3 0
6 | 19 8 | -1 7 1 8
Y=4xX-5 Y=X-9 Y =X+(6x-1)
9 0
10, 8
N1x] vy 9 Ix| v 9 | x| v 4
11.
6 | -54 -8 | -128 7| 7
1| 9 5| -80 6| 6 . 0
2 | 18 3| -48 5] 5 '
4 | 36 1| -16 3 | -3
5 | 45 8 | 128 10 | -10
Y=Xx9 Y =2xXx8 Y=-X
10 [x v 1) [x Ty 12) [x v
3| -4 9| 5 2 | -22
2| 0 7] -3 1| 11
4 | 24 5] -1 2 | 22
6 | 32 1] 3 6 | 66
7 | 36 10 | 14 7 | 77
Y =3xX+(X+8) Y=X+4 Y=9xX+(Xx2)

[ M ath ] www.CommonCoreSheets.com
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C:# Identifying Y Intercept (Tables) Name:

Identify the Y intercept for each table. Answers
0 -6 6
-9 0 -5 1
0
2.
Dlx]| v )l x| v A x| v
-7 | -21 -10 | -68 9| -12 3,
-3 -9 -7 | -47 3| 0
2| -6 3 23 -2 2 4
-1 -3 7 51 2 10
10 | 30 9 65 51| 16 5,
Y =9xX-(Xx6) Y=7xX+2 Y =3xX-(X-6)
6.
7.
8.
4 | x| Y 5 | x| v 6) [ x | v
51| -25 -6 | -15 -6 | -12 9
-4 | -21 1| -8 -2 | -8
-2 | -13 3| -6 1] -7
3 7 6 | -3 3| -3
6 | 19 8| -1 7 1
Y=4xX-5 Y=X-9 Y =X+(6x-1)
Nlx| vy 8 | x| v Nl x|y
-6 | -54 -8 | -128 -7 7
1 9 -5 -80 -6 6
2 | 18 -3 | -48 -5 5
4 | 36 -1 | -16 3 -3
5| 45 8 | 128 10 | -10
Y=Xx9 Y =2xXx8 Y=-X
M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
D1 x|y 2 I x| v 3 [ x| v
1
-10 | -1 -7 | -16 4| 5
8|1 2| -11 -1 8 ,
-1 | 8 -1 -10 4 | 13 '
6 | 15 1| -8 5| 14
7 | 16 8 | -1 7 | 16 3
4.
5.
D x| v S | x| v 6 I x| v
6.
-6 | -30 -8 | -64 -8 | -320
-4 | -20 -4 | -32 -5 | -200 ;
1| -5 1| -8 1| 40 '
8 | 40 5 | 40 2| 80
9 | 45 6 | 48 3 | 120 8
0.
10.
Nlx]| vy 8 | x| v 9 x| v
11.
7| -12 -9 | -79 7| -21
4| -9 1| -7 4| -12 .
5| 0 1| 11 2| 6 '
6 | 1 5 | 47 319
8| 3 8 | 74 6 | 18
10 [x [ v m[x [y 12) [x [ v
-7 | -42 -10 | 10 91 -90
-6 | -37 6| 6 3| 30
4 | 13 2| 2 4 | 40
5| 18 11 5 | 50
7 | 28 8 | -8 9 | 90
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 111121 8] 0




C:# Identifying Y Intercept (Tables)

Name:

Answer Key

Identify the Y intercept for each table. Answers
D x|y 2 [ x| v 3 | x| v 9
1.
-10 | -1 -7 | -16 41 5
-8 1 2| -11 -1 8 9
) ;
-1 8 -1 -10 4 |13
6 15 1 -8 5114
3 9
7 16 8 -1 7 | 16
Y=X+9 Y =X+(9x-1) Y =X-(9x-1)
4 0
5 0
D 1Ix| v (x| v 6 [ x| v . 0
-6 | -30 -8 | -64 -8 | -320
4| -20 4] -32 -5 | -200 5
. ;
-1 -5 -1| -8 1 40
8 | 40 51| 40 2 80 2
9 | 45 6 | 48 3 | 120 8
Y =8xX-(Xx3) Y =8xX Y =8xX x5 0
9
10. -7
N 1lx| v 8 [ x| v 9 [ x| v
11. 0
-7 | -12 -9 | -79 -7 | -21
4| -9 1| -7 4 | -12 0
12.
5 0 1] 11 2 6
6 1 5| 47 3 9
8 3 8| 74 6 | 18
Y=X-5 Y =9xX+2 Y =4xX+(X x-1)
100 [ x | v Wi x |y 2) I x| v
-7 | -42 -10 | 10 -9 | -90
-6 | -37 -6 6 3| 30
4 |1 13 -2 2 4 | 40
51 18 -1 1 5| 50
7 | 28 8 -8 9| 90
Y =6xX-(X+7) Y=-X Y =2xX+(X x8)
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 111121 8] 0




C:# Identifying Y Intercept (Tables) Name:

| dentify the Y intercept for each table. Answers
0 0 0 0
-9 9 2 9 1
-5
2,
D x [y 2 I x| v 3 | x| v
-10 | -1 -7 | -16 41 5 3
-8 1 -2 | -11 -1 8
1| 8 -1 -10 4 |13 4
6 15 1| -8 51| 14
7 16 8| -1 7 | 16 5
Y=X+9 Y =X+(9%-1) Y =X-(9x-1)
6.
7.
8.
hIx|y S [x ]y 6 [ x| v
-6 | -30 -8 | -64 -8 | -320 9.
-4 | -20 -4 | -32 -5 | -200
-1] -5 -1 | -8 1 40
8 | 40 5| 40 2 80
9 | 45 6 | 48 3 | 120
Y =8%xX-(Xx3) Y =8xX Y =8xXx5
Nlx|y 8 | x| v x| vy
-7 | -12 -9 | -79 -7 | -21
4| -9 1| -7 4 | -12
5 0 1|1 2 6
6 1 5| 47 3 9
8 3 8| 74 6 | 18
Y=X-5 Y =9xX+2 Y =4xX+(X x-1)

M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
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